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QUESTION ONE

a) Explain any four objectives of production management. (4 marks)

b) Discuss the main principles of plant layout. (7 marks)

c) The new Health-care facility is targeted to serve seven census tracts in Delhi. The
table given below shows the coordinates for the center of each census tract, along
with the projected populations, measured in thousands. Customers will travel
from the seven census tract centers to the new facility when they need health-
care. Two locations being considered for the new facility are at (5.5, 4.5) and (7,
2), which are the centers of census tracts C and F. Details of seven census tract
centers, co-ordinate distances along with the population for each center are given
below. If we use the population as the loads and use rectilinear distance, which

location is better in terms of its total load-distance score? (8 marks)
SI. No. Census tract x, v) Population {f)
1 A (25,45) 2
2 B (25.23) 5
3 C {3.5,43) o
4 D (5,2) T
5 E {8,5) 10
6 F 1.2 2
7 G 9,25} 4
d) Briefly illustrate the principle of preventive maintenance as a type of
maintenance conducted in industries (5 marks)
e) Define an obsolete item, (1 marks)

f) Explain any five objectives of employing material handling in a plant. (5 marks)

QUESTION TWO

Referring to the pay-off table 1, determine which alternative would be chosen under
each of these strategies:

(a) Maximin, (5 Marks)
(b) Maximax (7 Marks)
(c) Laplace (8 Marks)
Table 1
Possible future demand in Rs.

Alternatives Low Moderate High

Small facility 10 10 10

T - —— =

Large facility {4 2 16
QUESTION THREE (20 Marks)

Given the product structure tree shown in FIG 1 for wheelbarrow W099, develop an
indented bill of materials.
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QUESTION FOUR (20 Marks)
Explain the principle of final inspections, the two methods used to achieve it. Also,

elaborate on its drawbacks.






